
View 1

View 2

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

Th
is 

d
oc

um
en

t i
s N

or
d

pe
is 

(N
or

th
st

ar
 S

p.
 z

 o
.o

. )
ex

cl
us

iv
e 

in
te

lle
ct

ua
l p

ro
pe

rty
. I

t m
us

t b
e 

tre
at

ed
 a

s s
tri

ct
ly

 c
on

fid
en

tia
l

 a
nd

 m
us

t n
ot

 b
e 

co
pi

ed
 o

r c
om

m
un

ic
at

ed
 to

 a
ny

 th
ird

 p
er

so
n 

w
ith

ou
t N

or
d

pe
is 

(N
or

th
st

ar
 S

p.
 z

 o
.o

.) 
w

rit
te

n 
pe

rm
iss

io
n

A3

Nordpeis AS 
Gjellebekkstubben 11

N-3420 LIIERSKOGEN, Norwey

Revision note:

Name:

Revision by:

Checked by:

Created by:

Approved by:

Date:

Part number: Revision:

Material:

Weight (kg.): Format:

Scale:
1:8

Q0

Replace:

R.Sikorski

Ł.Kęsy 07.08.2014

21.03.2014

06.08.2014

SN-00000-013

Orion ACR - stove

Piecyk Orion ACR

Orion

77.53

T.Ziółkowski Sheet:
51of



D
F

8

20

3

16

5

16

5

6

21

9

22 4

16

5

2

2312

7

117

DETAIL D
SCALE 1 : 2

11

19

14

18

DETAIL F
SCALE 1 : 2

15

18

10

NUMBER ELEMENT QUANTITY UNIT

23 20-05001-000 Smoke gap cover holder 2 pcs

22 SS-ORI00-060 Pre-assembled Baffle plate set 1 pcs

21 SS-ORI00-050 Pre-assembled Top set 1 pcs

20 SS-ORI00-040 Pre-assembled Front set 1 pcs

19 22-SPEC0-009 Serial no. plate 1 pcs

18 21-50001-018 Washer fi6x18 Din 9021 12 pcs

17 21-40008-035 Screw M8x35 DIN 965 1 pcs

16 21-40005-030 Screw M6x30 Din 7991 3 pcs

15 21-40001-030 Set screw M6x30 Din 916 4 pcs

14 21-30004-025 Screw M6x25 Din 933 1 pcs

13 21-30004-020 Screw M6x20 Din 933 4 pcs

12 21-30004-012 Screw M6x12 Din 933 2 pcs

11 21-10001-326 Rivet 3.2x6 ISO 15983 A2-A2 2 pcs

10 21-00000-006 Nut M6 Din 934 4 pcs

9 20-04401-000 Smoke guiding tube Orion 1 pcs

8 20-04017-000 Draft control Orion 1 pcs

7 20-04012-000 Back chamber plate Orion 1 pcs

6 20-04011-000 Plate for cooking Orion 1 pcs

5 20-04009-000 Cover Orion 3 pcs

4 20-04005-000 Back plate Orion 1 pcs

3 20-04004-000 Left side plate Orion 1 pcs

2 20-04003-000 Right side plate Orion 1 pcs

1 20-04002-000 Bottom plate Orion 1 pcs

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

Th
is 

d
oc

um
en

t i
s N

or
d

pe
is 

(N
or

th
st

ar
 S

p.
 z

 o
.o

. )
ex

cl
us

iv
e 

in
te

lle
ct

ua
l p

ro
pe

rty
. I

t m
us

t b
e 

tre
at

ed
 a

s s
tri

ct
ly

 c
on

fid
en

tia
l

 a
nd

 m
us

t n
ot

 b
e 

co
pi

ed
 o

r c
om

m
un

ic
at

ed
 to

 a
ny

 th
ird

 p
er

so
n 

w
ith

ou
t N

or
d

pe
is 

(N
or

th
st

ar
 S

p.
 z

 o
.o

.) 
w

rit
te

n 
pe

rm
iss

io
n

A3

Nordpeis AS 
Gjellebekkstubben 11

N-3420 LIIERSKOGEN, Norwey

Revision note:

Name:

Revision by:

Checked by:

Created by:

Approved by:

Date:

Part number: Revision:

Material:

Weight (kg.): Format:

Scale:
1:8

Q0

Replace:

P.Żabiński

Ł.Kęsy 07.08.2014

21.03.2014

06.08.2014

SN-00000-013

Orion ACR - stove

Piecyk Orion ACR

Orion

62.78

T.Ziółkowski Sheet:
52of



A

11

1

5

3 8

9

7

2

10

15

12

13

16

14

DETAIL A
SCALE 1 : 2

4

6

NUMBER ELEMENT QUANTITY UNIT

16 SS-ORI00-020 Pre-assembled Accessories set 1 pcs

15 SS-ORI00-010 Pre-assembled Legs set 1 pcs

14 SS-ORI00-03A Pre-assembled Accessories ACR set 1 pcs

13 LS-ORI00-003 Thermotte bottom Orion 2 pcs

12 LS-ORI00-002 Thermotte side right Orion 1 pcs

11 LS-ORI00-001 Thermotte side left Orion 1 pcs

10 28-00003-004 Glass Orion 1 pcs

9 22-01056-000 Distanse tube for bolt Orion 1 pcs

8 22-01050-002 Handle bolt stainless steel Orion 1 pcs

7 22-01040-000 Lock plate Orion 1 pcs

6 22-01031-000 Holder glass plate Orion 4 pcs

5 21-50001-018 Washer fi6x18 Din 9021 3 pcs

4 21-40004-008 Screw M6x8 A2 DIN 7985 4 pcs

3 21-30004-016 Screw M6x16 Din 933 2 pcs

2 21-00001-010 Lock nut M10 DIN 980V 1 pcs

1 20-04018-000 Draft distributor door Orion 1 pcs

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

Th
is 

d
oc

um
en

t i
s N

or
d

pe
is 

(N
or

th
st

ar
 S

p.
 z

 o
.o

. )
ex

cl
us

iv
e 

in
te

lle
ct

ua
l p

ro
pe

rty
. I

t m
us

t b
e 

tre
at

ed
 a

s s
tri

ct
ly

 c
on

fid
en

tia
l

 a
nd

 m
us

t n
ot

 b
e 

co
pi

ed
 o

r c
om

m
un

ic
at

ed
 to

 a
ny

 th
ird

 p
er

so
n 

w
ith

ou
t N

or
d

pe
is 

(N
or

th
st

ar
 S

p.
 z

 o
.o

.) 
w

rit
te

n 
pe

rm
iss

io
n

A3

Nordpeis AS 
Gjellebekkstubben 11

N-3420 LIIERSKOGEN, Norwey

Revision note:

Name:

Revision by:

Checked by:

Created by:

Approved by:

Date:

Part number: Revision:

Material:

Weight (kg.): Format:

Scale:
1:4

Q0

Replace:

P.Żabiński

Ł.Kęsy 07.08.2014

21.03.2014

06.08.2014

SN-00000-013

Orion ACR - stove

Piecyk Orion ACR

Orion

17.40

T.Ziółkowski Sheet:
53of



 6
35

 

 3
80

 

 9
7 

 138 

 318 

 325 

 5
20

 

 
13

7,
5 

 131,5 

 509 

 538 

 1
14

,5
 

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

Th
is 

d
oc

um
en

t i
s N

or
d

pe
is 

(N
or

th
st

ar
 S

p.
 z

 o
.o

. )
ex

cl
us

iv
e 

in
te

lle
ct

ua
l p

ro
pe

rty
. I

t m
us

t b
e 

tre
at

ed
 a

s s
tri

ct
ly

 c
on

fid
en

tia
l

 a
nd

 m
us

t n
ot

 b
e 

co
pi

ed
 o

r c
om

m
un

ic
at

ed
 to

 a
ny

 th
ird

 p
er

so
n 

w
ith

ou
t N

or
d

pe
is 

(N
or

th
st

ar
 S

p.
 z

 o
.o

.) 
w

rit
te

n 
pe

rm
iss

io
n

A3

Nordpeis AS 
Gjellebekkstubben 11

N-3420 LIIERSKOGEN, Norwey

Revision note:

Name:

Revision by:

Checked by:

Created by:

Approved by:

Date:

Part number: Revision:

Material:

Weight (kg.): Format:

Scale:
1:6

Q0

Replace:

P.Żabiński

Ł.Kęsy 07.08.2014

21.03.2014

06.08.2014

SN-00000-013

Orion ACR - stove

Piecyk Orion ACR

Orion

77.59

T.Ziółkowski Sheet:
54of



24-00021-000 Orion box

PA-ORI00-020 Bottom pallet Orion

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

Th
is 

d
oc

um
en

t i
s N

or
d

pe
is 

(N
or

th
st

ar
 S

p.
 z

 o
.o

. )
ex

cl
us

iv
e 

in
te

lle
ct

ua
l p

ro
pe

rty
. I

t m
us

t b
e 

tre
at

ed
 a

s s
tri

ct
ly

 c
on

fid
en

tia
l

 a
nd

 m
us

t n
ot

 b
e 

co
pi

ed
 o

r c
om

m
un

ic
at

ed
 to

 a
ny

 th
ird

 p
er

so
n 

w
ith

ou
t N

or
d

pe
is 

(N
or

th
st

ar
 S

p.
 z

 o
.o

.) 
w

rit
te

n 
pe

rm
iss

io
n

A3

Nordpeis AS 
Gjellebekkstubben 11

N-3420 LIIERSKOGEN, Norwey

Revision note:

Name:

Revision by:

Checked by:

Created by:

Approved by:

Date:

Part number: Revision:

Material:

Weight (kg.): Format:

Scale:
1:6

Q0

Replace:

P.Żabiński

Ł.Kęsy 07.08.2014

21.03.2014

06.08.2014

SN-00000-013

Orion ACR - stove

Piecyk Orion ACR

Orion

76.92

T.Ziółkowski Sheet:
55of


	View 1 & 2
	Widok rysunku1

	View 1
	Widok rysunku3
	Detail View D (1 : 2)
	Detail View F (1 : 2)

	View 2
	Widok rysunku2
	Detail View A (1 : 2)

	Dimension
	Widok rysunku4
	Drawing View49
	Drawing View50
	Drawing View51

	Packaging
	Widok rysunku5


